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One of the following has done research on parenting styles

1. Galton and Goddard

2. Hathaway and McKinley

3. Bruner and Terman

4. Baumrind and Black
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Teacher wanted to assess the impact of ‘Computer Aided
learning’ on students Achievement. But due to Virus in
computer the experiment was failed. The dependent Variable
here.

1. Teacher

2. Computer virus

3. Computer Aided Learning

4. Achievement of student
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The stage at which ‘Self Concept’ in Children starts is

b=

2O
™
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L

Infancy
Early Childhood
Later childhood

Adolescence
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According to Kohlberg, ‘Stage of obedience to avoid
punishment’ is found in this stage

1.
2.
3.
4.

Pre conventional Level — 1*' stage
Pre Conventional Level — 2™ stage
Conventional Level — 3™ stage

Post Conventional Level — 5™ stage
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According to Ericson, the children between 6 to 12 years will
face the following psychosocial conflict

l. Generativity - Stagnation

2. Integrity - Despair

3. Role identity — Role conflict

4. Industry — Inferiority
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One of the following is a verbal test

1. Draw-a-Person Test

2. Raven’s Progressive Matrices
3. Army Beta Test

4. Binet — Simon Intelligence Test
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‘Cumulative rating scale’ was prepared by
Thurston
Guttman
Likert
: Bogardus
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Raju asked his father to buy a cycle. But his father denied.
Then Raju made friendship with a person having cycle, and
satisfied by riding his friend’s cycle. The Defense Mechanism
used by Raju is

1. Rationalization
2. Repression

3. Regression

4. Compensation
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10.

Begum neither wants to go to school nor wants to be scolded
by her mother at home for not attending to school. The conflict
of Begum in this context

1. Approach - Approach

2. Avoidance - Avoidance

3. Approach - Avoidance

4. Double approach - Avoidance
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One of the following has applied action research to Education

1. Stephen Corey

2. Williamson

3. Stephen Hack

4, Kemmis

RSO 985°55:50 AGEOMTAY 55000DS T8>
.o

1. 33@5 &%

2. OOV
5. E -

3. S 2Q I8

4, 3 &5



11.

12.

‘Theory of Hierarchy of needs’ was proposed by

b=

Kimball young
Hurlock
Rogers

Maslow
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One of the following is a ‘law of perceptual organization
1.
2.
3.
4.
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Law of closure
Law of exercise
Law of effect

Law of readiness
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14.

Vijay remembers any concept by doing it experimentally. The
Memory of Vijay is

l. Passive memory

2. Active memory

3. Immediate memory
4. Rote memory

ez D DASTFZHT® (PSR Jrogsor B KHEOE0ETED.
DO PN

|.—\

RS IR
yREEC S PERIN
3. &ge 00

4. 28 BB

)

‘Operant conditioning theory’ is also known as

1. Instrumental Conditioning
2. Connectionism

3. Bond theory

4.

S — type theory
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Author of the book “Social learning and personality
development” is

1. Likert
2. Ericson
3. Bandura
4. Freud
“Fab BEOR @0k )OS TS0TI0E” (fog sSans
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According to Vygotsky ‘Higher Mental process’ is
Reasoning

Questioning

1

2

3. Comparing
4 Observing
)
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18.

The ‘Theory of Generalization’ related to transfer of Learning

was proposed by

1. W.C. Bagley
2. Thorndike

3. Wertheimer
4. Charles Judd
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Last stage in learning curve is

1.
2.
3.
4,

Fluctuation
Plateau
Physiological limit
Initial Sprit
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19.

20.

In creative stages, a sudden occurrence of a solution to a
problem is happened in

1. Preparation stage

2. Verification stage

3. Stage of insight

4. Latent stage
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‘Model of Intelligent theory’ was proposed by
1 Gardner

2. Thorandike
3. Guilford

4 Spearman
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22.

Dysgraphia is a

1.

2.
3,
4,

Mathematical disability
Speech related disability
Reading related disability
Writing related disability
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Correct sentence regarding Non — Directive counselling

1.
2.
3.
4.

In this counselor plays key role
Solution to the problem in given by counselor only
This was introduced by FC Thorn

This is known as Client Centered Counselling
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23.

24.

In this type of leadership decisions will be taken by members

only
1.

2.
3.
4

Laisser-faire leadership
Participatory leadership
Democratic leadership

Authoritarian Leadership
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Input device among the following is

1.
2.
3.

4

Sensor
Magnetic Disc
Speaker

Monitor
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25.

26.

27.

Expanded form of LAN is
LAN 238e3 &edo

1. Language Anabled Network
2. Local And National Network
3. Long Access Network

4. Local Area Network

The percentage of seats reserved for class 1 in private schools
under the RTE act 2009 for children from underprivileged
backgrounds

RTE 2009 35750 (336 FEFoS’ D, 22650, 20078 S0
2QOH 13 SEXNS® Feron0SIONS Ssoé%%

1 25%
2 30%
3. 40%
4 50%

The NCF 2005 prescribed no homework Up to class 2. After
that the number of hours in a week can be allotted for
homework in class 3.

NCF 2005 ($¥5°50 25 SEKS S5% Q050€d 50639
BIPDOTBED, OB €3 S0 SSKD (33 SBKD) 5708
Ford AR Koesen 33‘&7"0;552)_ §w°ooao£55i§ol).
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28.

29.

30.

The target year to achieve Universal Foundational Literacy
and Numeracy in Primary school according to NEP 2020 is

NEP 2020 (35750 (FFE ST’ SO D0
©FOIGES 500050 DoP§ BRI FE03ETIY STy
33@3&50) éobeﬁ(\)cﬁo

1 2025
2 2030
3. 2035
4 2028

Under “Jagananna Vidya Kanuka” the number of uniforms
given to students is

I. One pair

2. Two pairs

3. Three pairs

4. Four pairs
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‘DIKSHA’ was launched in this year
‘DIKSHA’ (r50owserlsS 505 )50

l. 2016
2. 2017
3. 2018
4. 2020
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SET — 4
Telugu
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61.

62.

63.

64.

SET — 4
ENGLISH

Choose the correct negative form of the simple present tense
for the pronoun “She”

1. aren’t
2 weren’t
3. don’t
4 doesn’t

Choose the sentence in the negative form of the simple present
tense.

1. They don’t likes ice cream.
2 He don’t like ice cream.

3. They doesn’t like ice cream.
4

He doesn’t like ice cream.

Choose the grammatically correct sentence from the following

1. He is not superior than you.

2 He is no more superior than you.
3. He is more superior to you.

4 He is not superior to you.

Choose the discourse maker that can be used for sequencing.
1. Could you repeat...

2 To recap...
3. Next...
4

To sum up...



65.

66.

67.

68.

Choose the correctly punctuated sentence.

1.

2
3.
4

She enjoys, reading writing and arithmetic.

She enjoys reading, writing, and arithmetic.

She enjoys reading writing and arithmetic.

She enjoys reading, writing and arithmetic.

Choose the correct sequence of the words in which they appear

in the dictionary.

A) express  B) example
1 D B C
2 B D A
3. C A D
4 A C B

C) expensive D) exam

o w a »

Identify the linker that indicates cause and effect

l.

2
3.
4

likewise

therefore

meanwhile

similarly

Select the following sentence that is not a simple sentence

1.
2.

The cat chased the mouse.

While the cat was chasing the mouse, the dog barked

loudly.

The cat, with its sharp claws, chased the mouse.

Chasing the mouse, the cat leaped gracefully



69.

70.

71.

72.

One of the following is not an example of an interrogative
pronoun

1. who

2 what
3. which
4 him

Choose the correct conjunction to complete the sentence.
«“ the sunrises the moon appears.
1 Either,are

2 Neither, nor

3. Both, and therefore

4

Not only, but also too

Choose the phrasal verb that means ‘to delay or postpone
something!’

1. settle down
2 hold off

3. give up

4 bring up

Choose the type of sentence that typically ends with a question
mark.

I. Declarative sentence
2 Exclamatory sentence
3. Imperative sentence
4 Interrogative sentence



73.

74.

75.

76.

“Where are you going, Dog?”’ the Wolf asked.

Choose the indirect speech for the sentence above.

1.

2
3.
4

Some of the students

The Wolf asked the Dog if he was going.

The Dog asked the wolf whether he was going.
The Wolf asked the Dog where was he going.
The Wolf asked the Dog where he was going.

left the classroom for lunch.

Choose the correct verb that fits the blank.

l.

A disease that affects a large number of people in an area at

2.
3.
4

has
is
was

have

the same time.

Choose the one word substitute for the expression above.

1.

2
3.
4

academic
incorrigible
contagious

epidemic

Choose the correctly spelt word.

1.

2.
3.
4

astronaut
astronout
ostronout

ostronaut



7.

78.

79.

80.

When they returned, Nishad told me he’d been to see
Mr. Nath and I felt most annoyed that I hadn’t been there.

Choose the synonym of the word ‘annoyed’

1.

2
3.
4

happy
irritated

delighted

excited

“Bepin Babu spoke quietly, his eyes still on the books.”

Choose the antonym of the word ‘quietly’

1.

2.
3.
4

The feature of language which we can talk about a person or a

loudly
silently
calmly

softly

thing at a distance or not in front of us is

1.

2.
3.
4

Prevarication
displacement
extention

transmission

The minimum unit of teaching in direct method is

1.

2
3.
4

alphabet
word
sentence

syllable



1.

82.

83.

Language laboratory is a place where

1. all the teaching learning material 1s stored.

2 audio material is available for speech practice
3. science equipment is available

4 we keep all school records.

The following is not a component of narration.
l. Tone

2 Gestures

3. Size of the class

4

Involvement

Read the following passage.

The ancient castle loomed majestically atop the hill, its stone
walls bearing the scars of battles long past. Within its shadowy
halls, whispers of history echoed, telling tales of knights and
kings. Moss-covered cobblestones led to a courtyard where a
solitary fountain trickled, its waters reflecting the castle's
timeless grandeur. In this fortress of the past, legends were
born and secrets whispered in the wind.

Select the correct statement based on the passage:

1. The castle stood in ruins, crumbling and forgotten.
2 The castle was located in a valley, not atop a hill
3. The courtyard was barren, devoid of any features.
4 The fountain in the courtyard was dripping and

neglected.



&4.

85.

86.

Read the following passage.

The ancient castle loomed majestically atop the hill, its stone
walls bearing the scars of battles long past. Within its shadowy
halls, whispers of history echoed, telling tales of knights and
kings. Moss-covered cobblestones led to a courtyard where a
solitary fountain trickled, its waters reflecting the castle's
timeless grandeur. In this fortress of the past, legends were
born and secrets whispered in the wind.

Choose the correct statement based on the passage:

1.

The castle's halls were brightly lit with modern lighting
fixtures.

Moss covered the walls of the castle, giving it a sense
of age and mystery.

The courtyard was bustling with activity, filled with
people.

Legends were written on the walls of the castle.

The following method establishes direct link between the
thought and the expression in the target language.

1.

2.
3.
4

Direct Method

Bilingual Method

Grammar Translation Method
West’s New Method

The following is not a technique used in English language
teaching.

1.

2
3.
4

Formative Assessment
Multiple choice question
Role play

Fill in the blanks



87.

88.

89.

90.

The rain falls

Choose the correct option that fits the blank.
1. off aginst

2 over off

3. from under
4

from above

First conditional is used to talk

1. about real or likely future situations.
2 about unreal past

3. about the things happened in the past
4

about discontinued habits

May I have a moment of your time?

Identify the function of ‘may’ in the sentence above.
1. Giving permission

2 Expressing possibility

3. Expressing obligation
4

Polite request and taking permission

Select the correct use of articles in the following sentence:
She speaks the Spanish fluently.

1. The article should be omitted.

2 The article should be ‘an’.

3. The article is used correctly.

4 The article should be ‘a’.
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92.

SET -7
MATHEMATICS

I have some money. If you give ¥ 200 to me, my money will
become X 780. Then the money I already have with me.

J° :,5<:C§ IS{eTa) :3";533& &od. :63:@)03 o8 200 a‘?_oo o X780
9.0, BONT FVOLd ° SE e%) FS0y

1. X700
2. %680
3. T 580
4. %200

Yadamma plucked 5 Kg of rose flowers from her garden and
sold them in the market. She got ¥ 960. The selling cost of
each Kg. is

A S S $0& 5 3% KHroed) DIgew §% oSS
@08, T IWEO &H%H TI60 STjon. (K8 85
S IS R0y

1. 50

2. 192
3. 960
4. 190
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L
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2. 2
3. 2
4
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16
z 4
=—_.Then the value of ‘z’
z+15
z 4 )
=— 0 Z eI
z+15 9
1. 13
2. 12
3. 14
4, 16

95. The smallest natural number by which 1188 should be divided

to make the quotient a perfect cube.
D B Sresog 3 118850 2PAODS 2KD0 HOIJY
ESSISNSLCING

1. 33
2. 26
3. 44
4. 29



96.

97.

98.

In a year Seema earns ¥ 1,50,000 and saves % 50,000. The ratio
of Seema’s earnings to her savings

2.5 HonS® % 1,50,000 $0FE08 58650 50,000 esc
D08, 1 BOFHOB EaNS N e PP T Sao
NG

1 1:3
2 1:2
3. 2:1
4 3:1

1.
Convert Blnto percent

L s ps08 ST
10

1 10%

2. 0.10%
3. 100%
4 0.01%

An item marked at T 840 is sold for ¥ 714. Then the percent of
discount is

28 S0 (@8 Jo 3840 SHo8asw @53(;;@ 0 T714 29008
BOR0S0 Fes0

1. 10 %
2. 12 %
3. 14 %
4. 15 %



99.

100.

101.

If the interest is ¥ 280 on a sum of T 56000 in 2 years. Then
the rate of interest is

2 5058)0°08" 756000 S0 P IS ¢ T280 @008 6
Bewn

1. 25%

2. 0.25%

3. 0.025%
4. 0.0025%

Simple form of 1 + 9
4 4
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Find the mode of the data 13,16,12,14,19,12,14,13,14
Sao¥sn 13,16,12,14,19,12,14,13,14 @), e T0odE500
1. 13

2. 12
3. 19
4. 14



102. The length of a rectangle is 5 cm and breadth is 3 cm. Then the
perimeter of the rectangle is

103.

1.
2.
3.
4.

18cm
14cm
16cm

15¢cm

PP 5 0., Seseny 3 0.2 Xe 83) ST BrenSeods

1.
2.
3.
4.

18250.20
14250.20
16250.20
1520.20

A right angle triangle with two sides of equal lengths is called

1. Acute angled Triangle

2. Isosceles right Triangle

3. Scalene Triangle

4. Obtuse angled Triangle

2.5 ©028%: (Pee0S’ Bok ahere PEIHen BITSON
&) & (Dghzo

1. 008 (Habao

Lol

©0228% DIB(ErT (Babeso
QAT (B2eso
0R58% (B0



104. Number of Faces (F) of a Cube
D0 BE), SoI0 bogpag

105.

106.

107.

s

10
13
6
8

The sum of two angles in a triangle is 125°. The value of the
third angle is

(B0’ Bo e Sno 125° wons 35 %0

1.

2
3.
4

55°
70°
110°
40°

Vertex of the angle of ZAOB
5§%30 LAOB &’ 8500

I.

el

B
O
A
AB

Subtract 4p’q—3pq+5pq’ from Spg—-2pq* +5p°q

5pg—2pqg’ +5pq S508& 4p q—3pq+5pgSy BVIDS

1.

2.

(98]

s

8pq—Tpq’ + p’q
2 2
8pq+Tpq”~+p-q
2 2
8pq+Tpg”~—pq

2 2
8pq—Tpq~ —p~q



108.

109.

110.

Factorize (I +m)> —4im

(I +m)* —4lm BE), S°TETOS

1. (I +m)’
2 > =2Im
3. (I—m)’
4 21 —m?

In a stack there are 5 books each of thickness 20 mm and 5
paper sheets each of thickness 0.016mm. The total thickness of
the stack is (in mm)

28 PRS0 56E° 2020.0. 50080 Ko 5 RS, 0.0162.20.
$0080 Ko 5 'iéq% E0). Bo0S & YT 5§ S

0850 0850 (.2.08°)

1 1.0080x10°
2 1.0008x10”
3. 1.0080x10’
4 1.0080x10'°

If a =2, b=-2, then the value of a*+ab+b*
a=2,b=-2003 a’+ab+b’> o3

4

4

o=



111.

112.

113.

Reshma observed that one shampoo sachet contains 5 m!/
shampoo. To fill 400 m! bottle the number of sachets needed is

3iry &8 oY 3053&56 5 .9, ToIr 05 KoJood.
400 0.8, © IS JoWEIS Y Ao FgeeSen ©3060

1. 800
2. 80
3. 8
4. 20

A car travels 90 km in 2%2 hours. Then the time required to
cover 30 km with the same speed is

1. 50 minutes
2. 30 minutes
3. 40 minutes
4. 1 hour

2.5 5280 25 K020S° 90 8.0, (PAITE0 DK, &S
SKoS® 30 8.2, (FATEB0TEIY Dy HIA0O

1. 50 doren
2. 30 doren
3. 40 doJeen
4. 1 Koo

A Cuboid is of dimensions 6 cm x 5 cm X 4 cm. Then the
number of small cubes with side 2 cm. can be placed in the
given Cuboid

2.5 BY oS0 SFodes 6 cm x 5 cm x 4 cm, 3085HS° #5280
2 oD &) DY) DIWIOS &OTKO HoPs

l. 18
2. 25
3. 20
4. 15



114. Rahul took a wire of length 44 cm and bent it into the shape of
a circle. Then the radius of the circle is

oS 44 0.2 FEY Ko BNS FRED T SEssod
SOTED. &3 H)PO Book), G

115.

1
2
3.
4

14cm
Tcm
44cm

8cm

METHODOLOGY

The correlation between Mathematics with other subjects like
languages, science, social etc., is called

I.
2.
3.
4.

Relation
External correlation
Internal correlation

Accuracy

KRGS BT G JAATGS 4R, DI P(R0, TOET(J0
050K T3S Ko BET0200850

1.

L

V02000

“

25°:7°§ JF°H020850
eaoégé DF°H0250850

@&Jée‘%o



116.

117.

Each lesson in Mathematics curriculum is divided into some
parts and extended to different classes depending on their
difficulty level. Such arrangement of curriculum comes under

1. Concentric method

2. Spiral method

3. Student centred method
4. Teacher centred method

K3S AgReT @SS’ (38 Fomgoed) §) armreom
DFB0) 7€ ST & DG STRBOLH IHBoEO
IS0, §EIoB FEOTO WHBE B 305D SNOB.
L SsSos 558

(o)
2. NN ‘o’bgéﬁ
3. dogg TolB5)S 988
4. &IErgoD SoB8)S 988

The Heuristic method was invented by
1. D.S. Kothari

2 Prof. Arm Strong

3. Srinivasa Ramanujan
4

Dr. Benjiman F. Bloom

@T%ZAW BB ERATHT D
P

1. D.S. &8

@"n e.—sg&@;oﬁ

BAT oosomide

L

oo B0R0S 5. 23&5)



118.

119.

The place where some people interested in Mathematics can
have discussions together is

1.

2.
3.
4

Maths laboratory
Assembly

Maths club
Maths library

Ke3o 08 330, &8 &) FTostd SO SBjen O T

1.

L

KIS (HSBoeK o
@209

Ke3es 585

K3 Bleod

The problems in Primary level Mathematics textbooks should
follow the principle of

1.

2.
3.
4

Simple to complex
Complex to simple
Hard

Only teacher can explain

(DY Foos Kedes b°65©§0§068£) DGO FBOTIORS
Roe(8asa

1.

Ll

VEFS 3008 3ASK
[9p]N)
3368 SH0& D TSK
[9p[°¥)
EBISone
ebcs"?goﬁoow :ﬁr@:ﬁo D380TROL



120.

The tests which are useful for identifying the strengths and
weaknesses of each student and to finding the reasons is

1.
2.
3.
4.

Achievement tests
Slip tests
Diagnostic tests

Summative tests

B8 20 weren, 2OIPSSe KHO0D, O Ko TSeTen
BE’ SIS GHERTKIE HEFD

1.

L

JES Zaég\e)o
[N ‘;aégeb
S5 es DOFew

DogeS ‘éégen



SET -5
EVS

121. The white material surrounding the yellow part of a boiled egg

122.

1. Plasma
2. Jelly

3. Albumin
4. Yolk

&A30DS §GNHES° B0P S0 ard) 300D &0t BYD
Zacsf’go

1. b;@”&

2. =38

3. eodl
4. >3

Kharif crop is grown in this season

1. summer
2. rainy

3. spring
4. winter

28D H0oe Ho&oT 00

1. I 0
2. SO° 3P0

o
3. SV0Es 300
4. Baesee0



123. The frequency of a pendulum which oscillates 40 times in 4
seconds is

4 538" 40 > Sfoso T S'oso Ewy SSEORC

1. 4 Hz
2. 1 Hz
3. 10 Hz
4. 8 Hz

124. The uppermost layer of the Earth

I. Core

2 Atmosphere
3. Crust

4 Mantle

2 Boo¥) P oile]

1.  Soo

2 Al aTetacTe
3. ASLATNSTe)

4 2o (Faeso



125.

126.

The organism that breaths through its lungs as well as its skin

1. Human being
2 Frog

3. Dog

4 Earthworm

&SR SO IV TYO° ET® FYVOD &

L SS9
2. §3)

3. S

4, TS50

The coil of wire in an electric heater is
1. Filament

2. Element

3. Circuit

4. Spring

0|85 red & &od drsey
L »odosS

2 OIS

3. NSlevble]

4 R)oR



127. The animal that moves with just one large disc shaped
muscular foot

I. Earthworm
2. Cockroach
3. Snail

4. Tortoise

S500 28 Y &R e Soky F 505" EOT w0

1. OSSN

2 ANATOlS
Q

3. S

4 SZIe

128.  When an opaque object comes in the way of light, it makes a

1. Shadow

2. Rainbow

3. Image

4. Mirage

2.8 OFEHS 599 08 Srgos’ SONTIPE, @b IB)PBO
L s

2. 30(8 G

3. @&oz0

4. QDOLEST



129. The tool used by a tailor while stitching clothes

1. Trowel
2. Sickle
3. Saw

4. Bobbin

238300 §>e‘3ea:ao)>cés 58 T8 DA
[h] (] 3 [h]
)

1. T°D

2 8539
3. JoRo

4 CATAR)

130. This place in Andhra Pradesh is known as “Andhra Kashmir”
1. Horsley hills
2. Konaseema
3. Lambasingi
4. Chintapalle
SoFPBF 8’ e (Froar) “wolE 5BYE” woerh.
L 550 9
E5%

©ODVO0A

Ll

WOENS
™



131.

132.

To avoid the loss of energy during their journey, the migrating
birds fly in

1. U shape
2. L shape
3. V shape
4. M shape

Basre0d” &5 B S YDHom Gorerds, Sod HPpen e
e55°508° (HASTEdFe 00

1. U es3°50
2. L es3e&0o
3. V es3°50
4. M esse80

The continent known as “The Bird’s continent”
1 Australia

2 South America
3. North America
4. Africa

0§ P0%0” 8 DeSWE POEO

1. e.—s@é’)o‘j:"

2. G5§ed 1os®
3. &85 g
4. es|@5°



SET -7
SOCIAL STUDIES

133. Punjab was occupied by British East India company in
Do 3o DT BeRo&AT 50 IDTo BBy VoSO

1. 1853
2. 1849
3. 1857
4. 1847

134. Find the correct sentence

1. River Krishna flows into Arabian Sea

2. River Penna flows in Maharashtra

3. River Cauvery flows in West Bengal

4. River Ganga originates in the Himalayas
R3S TSGR og080s

L 5SSO B0 S350 Seoy0d
DINIO HFZS (HIIN00

S°30 38 98)% Borrd &° (P50

L

Korrss Sraredired” s yod



135. Velikondalu is located in this district
1. SPSR Nellore

2. Krishna
3. Ananthapuram
4. Chittoor

IOF 0% Be FS KoY
1. SPSR Sexth

2. §J%
3. BS0LEYTO
4. WL

136. The left canal of the Nagarjuna Sagar Dam is

1. Jawahar canal

2. Vallabhai canal

3. Gandhi canal

4. Lalbahadur canal

TGS ARG Gy Bk, AED sens

1. 23505 5000

2. 5(@%2;"05 SESWN

3. o8 5°ens

4. oS5 Tens



137.

138.

Justice Rajinder Sachar Committee examined the social,
economical and educational status of these people

1. Hindus

2. Muslims
3. Adivasis
4. Dalits

B B, FOWS, e38E, IT§ FowoiH B3PS o°Losd vrd
526 %6800D0d

1. ool by ISV)

2. SOVO
™

3. e3OTe

4, SN

Minimum age to drive transport vehicles is

1. 18 years
2. 2lyears
3. 24years
4. 25years

ETeT TITe0 SEIEIS SHODS EID SA0R0)
1. 18 Jonen

2 21 Jonew
3. 24 Jonen
4

25 Jdonen



139. The capital city of pallava dynasty was

1. Kanchipuram
2. Badami

3. Madhurai

4. Devagiri

Zsecg’;s @wegfoé o233

1. ST fofe
2. 23T

3. SHeD

4.  BSA8

140. Indian Parliament consists of

1. RajyaSabha and LokSabha

2. RajyaSabha, LokSabha, Prime Minister
3. RajyaSabha, LokSabha, President

4, LokSabha, President, Prime Minister
S JEH0ES I EOR &oenod

1. SCIRVARTV e S°EdeS
2. ooagod, S8, PSSO
3. oragRoe, S°EDey, bRl
4. &5, 0 Z08, PESS0@



141. Road safety week in India is organized every year in the

month of

1. January
2. March
3. May

4. August

ESBIS” 6% e FE B0 (H BOSSYTO
B3 308" AEIPIL

1. 2938
2. 35°0)
3.

4, &K

142. This country is the birth place of the Democracy

1. China

2. Britain
3. France
4. Greece

Rerdrgadgo esB)I0DS B¥o

1L BI°
2. QoS
3. @)
4.  \AS



143. Mulching, Rock Dam, Shelterbelts are the conservation

methods of
1. Soil
2. Forest

3. Ground Water
4. Wild Animals
mé’)QOK—, @5@557, ﬁgg B@ ERHN 5521)0) leletetn S0

1. I

2. Sl

3. wxéz)weo
4. S3g Soyreen

144. Article 51A of Indian constitution describes about
1. Fundamental Rights

2. Fundamental Duties

3. Directive Principles of state policy

4. President’s Rule

°8S OargoRo’ S1A efsse BY) 5000

1. (FPEWE ToE) e
2 (ST Deoe
3. =088 dolgren
4 U"@‘o’a@ JOS



145.

146.

“The main aim of science is not to cumulate the facts, but
formulating new methods by doing experiments again and
again” is quoted by

I.
2.
3.
4.

Robert Mac Arthur
A.W. Green
J.B. Conant

Karl Pearson

TGO B0k Sop§ GBI DSOM HoDS0 IO W,
5080 DB (PR B §E 8o ErrodosEd.”

ON) Bibojsméo

1. mmgﬁog e.—sgg
2. g B

3. BAOST0S

4. 8 20050

Identify the question related to— ‘Conceptual Understanding’

1.

2.
3.
4.

What questions will you ask a botanist to know more
about plants respiration?

Draw some pictures of home appliances.

How are tanks polluted?

What would you do to protect birds?

DAATSILTS' D 00220800 (D)0 £80506.

1.

300K 08° FHHE K000 HB0S BeoE'SEIS
S TIIE D (Do ©EIHEY?

Q) HjITESeTo S oD Adv0d.
BBHLO JT° B SHH & ann?
VPO &S AP D BEY?



147.

148.

“Knowledge should be connected to the outside school life”
this is stated by

l. Karl Pearson
2. Keeslar

3. NCF -2005
4. NPE -1986

") Do 00 2T 9:5000P0T)” &9
K)é%oﬁ)é&.

1. s°§ 205D

2. &8

™
3.  NCF -2005
4.  NPE -1986

SOCIAL METHODOLOGY

“The School is the Miniature of India” said by

1. Nehru

2. Ambedkar

3. Gandhi

4. Tagore

“PETO GRO WrFITH0S” &) rESEI0” ©d eR)d

L 3o
2. @B &
3. o8

4. oKrE



149. This approach goes from known to the unknown things

1. Inductive

2. Deductive

3. Analytic

4. Synthetic

ROVS DACITO 5008 ROSY VASSTOL éax;gg;:%g SN

1. SUBTNAIN

2 ASTSE

3. DFAETES 3
™

4 (VA4

DOFAETES 38
™

150. These physical features will be shown in yellow colour.

1. Mountains
2. Plains

3. Plateaus

4. Oceans

Ba AETTe DY DFI BoKS® Sdeatiyaean.

1. Zsc‘{S@w

2. DI

3. RIGEARRNNISY
4. Dl (Geen



